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Physics 201 Quiz #10. 28% December 2004

Student’s Name: /J ; D:

Tnstructions: All answers should be given correct to 3 significant fisures.

Q1. Consider a laser that emits at wavelength 600 nm. If a population inversion is
not generated, what Is the ratio of the popuizton of atoms in state E, 10 the
population in the ground state F,, with atoms at room temperature (300K)?
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Q2 Through what minimum potential difference must an electron i an x-ray tube be

accelerated so that it can produce X rays with a wavelength 0f 0.150 om?
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